DALLAS COUNTY BID SYNOPSIS				
BID NO. 2016-002-6539			EDI Environmental Technology	
			Mr. Anthony Ediale	
ANNUAL CONTRACT FOR ASBESTOS-MOLD-LEAD			Owner	
ASSESSMENT AND CONSULTANT SERVICES			2510 South	well Rd. #112
			Dallas,	TX 75229
			972-243	3-4194 (P)
				ix Listed
INITIAL CONTRACT PERIOD: JANUARY 1, 2016 THRU DECEMBER 31, 2016			tkmatt@s	bcglobal.net
THREE ADDITIONAL ONE YEAR PERIODS				
BUYER: LENORA SEVILLIAN			Recomm	end Award
COOPERATIVE PURCHASING?		3 3 3	Blank	
	ESTIMATED			
DESCRIPTION	ANNUAL QUANTITY	UNIT OF MEASURE	UNIT COST	COST EXTENSIO
Section A. Assessment and Consultation Services				4 4 44
1. Asbestos Services(must be trained, approved, and licensed or certified				
in accordance to TDSHS requirements).				
		3 3 3		3 3 33
Asbestos Consultant	1100	HOURS	\$18.00	\$19,800.00
Asbestos Inspector	1400	HOURS	\$16.00	\$22,400.00
Asbestos Project Manager	1350	HOURS	\$18.00	\$24,300.00
Air Monitoring Technician	500	HOURS	\$16.00	\$8,000.00
Clerical	1000	HOURS	\$9.00	\$9,000.00
Inspection/Assessment Report (including final report)	40	EACH	\$50.00	\$2,000.00
Abatement Plan/Specifications Report	20	EACH	\$80.00	\$1,600.00
Mileage Charge (if applicable)	3600	MILES	\$0.75	\$2,700.00
Minimum Service Charge (Note: Dallas County will only pay the minimum service charge amount or the actual time worked, whichever is greater).			N/A	
Specify surcharge (if any) for Emergency Service Request:% of fees stated above. (Note: Emergency Service is defined as any request that requires an immediate on-site response time of two (2) hours or less, after hours, and weekend work).			2	5%
2. Lead and Mold Services (must be trained, approved, and licensed or certified in accordance to TDSHS requirements.).				
Lead Abatement Project Designer	200	HOURS	\$22.00	\$4,400.00
Lead Inspector	300	HOURS	\$18.00	\$5,400.00
Lead Risk Assessor	300	HOURS	\$18.00	\$5,400.00
Mold Assessment Consultant	150	HOURS	\$22.00	\$3,300.00
Mold Asssessment Technician	200	HOURS	\$16.00	\$3,200.00
Indoor Air Quality Technician	200	HOURS	\$16.00	\$3,200.00
Clerical	300	HOURS	\$9.00	\$2,700.00
Inspection/Assessment Report (including final report)	20	EACH	\$70.00	\$1,400.00
Abatement Plan/Specifications Report	10	EACH	\$80.00	\$800.00
Mileage Charge (if applicable)	1000	MILES	\$0.75	\$750.00
Minimum Service Charge (Note: Dallas County will only pay the minimum service charge amount or the actual time worked, whichever is greater).			1	J/A
Specify surcharge (if any) for Emergency Service Request:% of fees stated above. (Note: Emergency Service is defined as any request that requires an			2	5%
Section B: Laboratory Testing Services				

DALLAS COUNTY BID SYNOPSIS				
BID NO. 2016-002-6539	194944			tal Technology, Inc.
	1-	01010101010	Mr. Anti	ony Ediale
ANNUAL CONTRACT FOR ASBESTOS-MOLD-LEAD				wner
ASSESSMENT AND CONSULTANT SERVICES			2510 South	well Rd. #112
			Dallas,	TX 75229
	1.1.1.1.1.1.1.1	*********	972-24	3-4194 (P)
			No Fa	ax Listed
INITIAL CONTRACT PERIOD: JANUARY 1, 2016 THRU DECEMBER 31, 2016			tkmatt@s	<u>bcglobal.net</u>
THREE ADDITIONAL ONE YEAR PERIODS	1949444	846444		
BUYER: LENORA SEVILLIAN			Recomn	end Award
COOPERATIVE PURCHASING?			E	lank
	ESTIMATED			
DESCRIPTION	ANNUAL	UNIT OF	UNIT COST	COST EXTENSION
	QUANTITY	MEASURE		
			1-1-1-1-1-1-1-1-	1-1-1-1-1-1-1-1
Price per test shall include all sample analysis costs, including but not		242444		*******
limited to, materials necessary to collect samples, time and materials				
necessary to process each sample in the laboratory, record maintenance,				
and facsimile transmission of results, within the specified turnaround time,		202020		88888888
the Contractor shall send results of the analysis to Dallas County via		2424444		4444444
facsimile transmission. A written report of the analysis must follow within		11111111111		
ten (10) business days of transmission.				
3. Test Category: Asbestos Sampling and Analysis				
Type of Test: Asbestos Sampling by PCM				
Turn Around Time:			1	-day
Cost per test:	200	EACH	\$4.00	\$800.00
Type of Test: Asbestos Sampling by PLM				
Turn Around Time:				-day
Cost per Test:	400	EACH	\$8.00	\$3,200.00
Type of Test: Asbestos Sampling by PLM-Point Count				
Turn Around Time:			1	-day
Cost per Test:	20	EACH	\$12.00	\$240.00
4. Test Category: Asbestos Sampling and Analysis				
n rost outegory. Hobestos oumpring and rindrysis				
Type of Test: Asbestos Sampling by TEM				
Turn Around Time:	11	FACU		-day
Cost per Test:	16	EACH	\$38.00	\$608.00
Type of Test: Micro-Vac				
Turn Around Time:			1	-day
Cost per Test:	4	EACH	\$25.00	\$100.00
Type of Test: Asbestos Sampling by PCM				
Turn Around Time:			2-	days
		EACH	\$3.00	\$600.00
Cost per Test:	200	Enton		
	200			
Type of Test: Asbestos Sampling by PLM	200			dave
	400	EACH	2- 	days \$3,200.00

DALLAS COUNTY BID SYNOPSIS				
BID NO. 2016-002-6539				ntal Technology, Inc.
				thony Ediale
ANNUAL CONTRACT FOR ASBESTOS-MOLD-LEAD				Dwner
ASSESSMENT AND CONSULTANT SERVICES				hwell Rd. #112
				, TX 75229
				43-4194 (P) Fax Listed
INITIAL CONTRACT PERIOD: JANUARY 1, 2016 THRU DECEMBER 31, 2016				sbcqlobal.net
THREE ADDITIONAL ONE YEAR PERIODS			tkindite	sucyrobal.net
BUYER: LENORA SEVILLIAN	- 44444		Recom	mend Award
COOPERATIVE PURCHASING?				Blank
	ESTIMATED			
DESCRIPTION	ANNUAL	UNIT OF MEASURE	UNIT COST	COST EXTENSION
Type of Test: Asbestos Sampling by PLM-Point Count				
Turn Around Time:			2	2-days
Cost per Test:	20	EACH	\$12.00	\$240.00
Type of Test: Asbestos Sampling by TEM Turn Around Time:) davic
Cost per Test:	16	EACH	\$35.00	2-days \$560.00
cust per rest.	10	LACIT	\$33.00	\$300.00
Type of Test: Micro-Vac				
Turn Around Time:			2	2-days
Cost per Test:	4	EACH	\$25.00	\$100.00
Type of Test: PLM Analysis - Friable ACM				
Test Method:				BULK
Turn Around Time:	100	FACU		1-day
Cost per Test:	100	EACH	\$8.00	\$800.00
Type of Test: PLM Analysis-Friable ACM				
Test Method:				BULK
Turn Around Time:			4	Hours
Cost per Test:	10	EACH	\$10.00	\$100.00
Type of Test: PLM Analysis - NOB ACM				
Test Method:				BULK
Turn Around Time:				2-days
Cost per Test:	100	EACH	\$6.00	\$600.00
5. Test Category: Asbestos Sampling and Analysis				
Type of Test: TEM Analysis - Friable ACM				
Test Method:				BULK
Turn Around Time:				2-days
Cost per Test:	16	EACH	\$30.00	\$480.00
Type of Test: TEM Analysis - NOB ACM				
Test Method:				BULK
Turn Around Time:				-days
Estimated Quantity:	16	EACH	\$30.00	\$480.00
Type of Test: PCM Analysis-ACM Test Method:				AIR
ו בא ואוכנווטע.				

		EDI Environmer	ntal Technology, Inc.
		Mr. Ant	hony Ediale
	*******	(Dwner
		2510 Sout	hwell Rd. #112
		Dallas	TX 75229
		972-24	13-4194 (P)
		No F	ax Listed
		tkmatt@:	sbcglobal.net
		Recom	mend Award
			Blank
ESTIMATED			
ANNUAL	UNIT OF MEASURE	UNIT COST	COST EXTENSION
			I-day
70	EACH	\$4.00	\$280.00
			AIR
		4	Hours
10	EACH	\$4.00	\$40.00
10 - 10 - 10	4 9 9 9		8 8 8 8 8
			I-day
20	EACH	\$8.00	\$160.00
			I-day
20	EACH	\$8.00	\$160.00
			I-day
20	EACH	\$8.00	\$160.00
			I-day
20	EACH	\$12.00	\$240.00
			1-day
20	EACH	\$8.00	\$160.00
			1-day
20	EACH	\$6.00	\$120.00
_			
		2	-days
40	EACH	\$7.00	\$280.00
_			
		2	-days
	QUANTITY	ANNUAL QUANTITY UNIT OF MEASURE 70 EACH 70 EACH 10 EACH 110 EACH 20 EACH 21 20 220 EACH 21 20 220 EACH 23 20 24 20 25 20 20 EACH 21 20 220 EACH 23 20 24 20 25 20 26 EACH 27 20 20 EACH 20 EACH 20 EACH 21 220 220 EACH 23 20 24 20 25 20 20 EACH 21 220 220 EACH 23 20 24 20 25 20 20 EACH </td <td>Mr. Anti 2510 Sout 2510 Sout Dallas 972-22 No F Immattee ANNUAL QUANTITY MEASURE UNIT COST 0 70 EACH \$4.00 10 EACH \$8.00 10 EACH \$8.00 10 20 EACH 20 EACH 20 EACH \$8.00 10 20 EACH \$8.00 10 20 EACH \$8.00 10 20 EACH </td>	Mr. Anti 2510 Sout 2510 Sout Dallas 972-22 No F Immattee ANNUAL QUANTITY MEASURE UNIT COST 0 70 EACH \$4.00 10 EACH \$8.00 10 EACH \$8.00 10 20 EACH 20 EACH 20 EACH \$8.00 10 20 EACH \$8.00 10 20 EACH \$8.00 10 20 EACH

DALLAS COUNTY BID SYNOPSIS				
BID NO. 2016-002-6539	_0000000			ntal Technology, Inc. thony Ediale
ANNUAL CONTRACT FOR ASBESTOS-MOLD-LEAD	-8888888			Dwner
ASSESSMENT AND CONSULTANT SERVICES	-666666			hwell Rd. #112
				, TX 75229
			972-24	43-4194 (P)
			No F	ax Listed
INITIAL CONTRACT PERIOD: JANUARY 1, 2016 THRU DECEMBER 31, 2016			<u>tkmatt@</u>	sbcglobal.net
THREE ADDITIONAL ONE YEAR PERIODS				
BUYER: LENORA SEVILLIAN			Recom	mend Award
COOPERATIVE PURCHASING?				Blank
DESCRIPTION	estimated Annual Quantity	UNIT OF MEASURE	UNIT COST	COST EXTENSION
Type of Test: Lead Sampling Dust by AAS				
Turn Around Time:			2	2-days
Cost per Test:	40	EACH	\$7.00	\$280.00
Type of Test: Lead Sampling Soil by AAS				
Turn Around Time:			2	2-days
Cost per Test:	40	EACH	\$7.00	\$280.00
Type of Test: Lead Sampling STLC				
Turn Around Time:			2	2-days
Cost per Test:	40	EACH	\$7.00	\$280.00
Type of Test: Lead Sampling TTLC				
Turn Around Time:				-days
Cost per Test:	40	EACH	\$7.00	\$280.00
Type of Test: Lead Paint Analysis				
Test Method:				A 6010B
Turn Around Time:		FAOL		2-days
Cost per Test:	10	EACH	\$10.00	\$100.00
Type of Test: Lead Paint Analysis				A (010D
Test Method:	_			A 6010B
Turn Around Time: Cost per Test:	40	EACH	\$8.00	0-days \$320.00
Type of Test: Lead Paint Analysis				
Type of Test: Lead Paint Analysis				BULK
Turn Around Time:				2-days
Cost per Test:	10	EACH	\$12.00	\$120.00
7. Test Category: Lead Sampling and Analysis	3.3.3	3 3 3		
Type of Test: Lead Paint Analysis				
Test Method:	_			WIPE
Turn Around Time:		EA OU		2-days
Cost per Test:	10	EACH	\$6.00	\$60.00
Type of Test: Lead in Air Sample Analysis				
Test Method:				AIR

DALLAS COUNTY BID SYNOPSIS	1-0-0-0-0-0-0-0-			
BID NO. 2016-002-6539			EDI Environmer	ntal Technology, Inc.
		699999	Mr. Ant	hony Ediale
ANNUAL CONTRACT FOR ASBESTOS-MOLD-LEAD			C)wner
ASSESSMENT AND CONSULTANT SERVICES			2510 South	nwell Rd. #112
			Dallas,	TX 75229
				3-4194 (P)
				ax Listed
INITIAL CONTRACT PERIOD: JANUARY 1, 2016 THRU DECEMBER 31, 2016			tkmatt@:	sbcglobal.net
THREE ADDITIONAL ONE YEAR PERIODS	1999999	0.000000000		
BUYER: LENORA SEVILLIAN			Recomm	nend Award
COOPERATIVE PURCHASING?		3.3.3	E	Blank
	ESTIMATED	UNIT OF		
DESCRIPTION	ANNUAL QUANTITY	MEASURE	UNIT COST	COST EXTENSION
Turn Around Time:			2	-days
Cost per Test:	10	EACH	\$8.00	\$80.00
Type of Test: Lead in Soil Sample Analysis				
Test Method:			E	BULK
Turn Around Time:			2	-days
Cost per Test:	10	EACH	\$12.00	\$120.00
Type of Test: Lead in Soil Sample Analysis				
Test Method:				ATER
Turn Around Time:			2	-days
Cost per Test:	10	EACH	\$12.00	\$120.00
Type of Test: Lead X-Ray Fluorescence (XRF) Analysis				
Turn Around Time:			F	Blank
Cost per Test:	10	PER DAY	\$8.00	\$80.00
8. Test Category: Mold/Indoor Air Quality Sampling and Analysis	-			
Type of Test: Non-Viable Direct Microscope - Bulk				
Turn Around Time:				-day
Cost per Test:	8	EACH	\$11.00	\$88.00
Type of Test: Non-Viable Direct Microscope - Swab				
Turn Around Time:			1	-day
Cost per Test:	8	EACH	\$8.00	\$64.00
Type of Test: Non-Viable Direct Microscope - Wipe				
Turn Around Time:			1	-day
Cost per Test:	8	EACH	\$8.00	\$64.00
Tumo of Tools Man Midela Direct Microsoft Toron 19				
Type of Test: Non-Viable Direct Microscope - Tape Lift				dav
Turn Around Time: Cost per Test:	0	EACU		-day \$64.00
	8	EACH	\$8.00	<u>۵</u> 04.00
9. Test Category: Mold/Indoor Air Quality Sampling and Analysis		3 3 3		9 (1999) (
Type of Test: Air-O-Cell Collection - Microscope				1
Turn Around Time:			1	-day
Cost per Test:	12	EACH	\$60.00	\$720.00

DALLAS COUNTY BID SYNOPSIS					
BID NO. 2016-002-6539		EL		EDI Environmental Technology, Inc.	
			Mr. Anthony Ediale		
ANNUAL CONTRACT FOR ASBESTOS-MOLD-LEAD			Owner		
ASSESSMENT AND CONSULTANT SERVICES			2510 South	well Rd. #112	
			Dallas,	TX 75229	
		*******	972-243	3-4194 (P)	
			No Fa	ax Listed	
INITIAL CONTRACT PERIOD: JANUARY 1, 2016 THRU DECEMBER 31, 2016			tkmatt@s	bcglobal.net	
THREE ADDITIONAL ONE YEAR PERIODS					
BUYER: LENORA SEVILLIAN		*********	Recomm	end Award	
COOPERATIVE PURCHASING?				lank	
	ESTIMATED			-	
DESCRIPTION	ANNUAL QUANTITY	UNIT OF MEASURE	UNIT COST	COST EXTENSIO	
Type of Test: Non-Viable Direct Microscope - Bulk					
Turn Around Time:				days	
Cost Per Test:	8	EACH	\$25.00	\$200.00	
Type of Test: Non-Viable Direct Microscope - Swab					
Turn Around Time:			2-	days	
Cost per Test:	8	EACH	\$15.00	\$120.00	
Type of Test: Non-Viable Direct Microscope - Wipe					
Turn Around Time:			2-	days	
Cost of Test:	8	EACH	\$15.00	\$120.00	
	0	EAGIT	\$13.00	\$120.00	
Type of Test: Non-Viable Direct Microscope - Tape Lift					
Turn Around Time:			2-days		
Cost per Test:	8	EACH	\$15.00	\$120.00	
Type of Test: Air-O Cell Collection - Microscope					
Turn Around Time:			2-	days	
Cost per Test:	12	EACH	\$55.00	\$660.00	
Type of Test: Basic Occupant Comfort Parameter Indoor Testing (to include O2. Carbon Monoxide, Carbon Dioxide, Relative Humidity, and Temperature)					
Test Method:				Air	
Turn Around Time:			1	N/A	
Cost per Test:	6	EACH	\$45.00	\$270.00	
Type of Test: Photoionization Detector					
Test Methold:				Air	
Turn Around Time:				N/A	
Cost per Test:	6	EACH	\$35.00	\$210.00	
Type of Test: Microbial Analysis (Total Spores)					
Test Method:				Air	
Turn Around Time:			10	-days	
Cost per Test:	6	EACH	\$8.00	\$48.00	
10. Test Category: Mold/Indoor Air Quality Sampling and Analysis	9 9 9	9 9 9		2 2 22	
Type of Test: Microbial Analysis (Culturalable)					
i voe ol lesi: Micropial Analysis (Culturalable)					

DALLAS COUNTY BID SYNOPSIS				
	111111			
BID NO. 2016-002-6539			EDI Environmen	tal Technology, Inc.
				nony Ediale
ANNUAL CONTRACT FOR ASBESTOS-MOLD-LEAD	144444			wner
ASSESSMENT AND CONSULTANT SERVICES	1-0-0-0-0-0-0			well Rd. #112
				TX 75229
				3-4194 (P)
				ax Listed
INITIAL CONTRACT PERIOD: JANUARY 1, 2016 THRU DECEMBER 31, 2016	1.1.1.1.1.1.1.1			bcglobal.net
THREE ADDITIONAL ONE YEAR PERIODS			undues	begiobal.net
			Decema	and Award
BUYER: LENORA SEVILLIAN	12-22-22	949494 1		nend Award
COOPERATIVE PURCHASING?	Se . Se . Se	. (* . (*)	E	Blank
DESCRIPTION	estimated Annual Quantity	UNIT OF MEASURE	UNIT COST	COST EXTENSION
Turn Around Time:			10-days	
Cost per Test:	6	EACH	\$22.00	\$132.00
		Enon	Ψ <u>2</u> 2.00	₩102.00
Type of Test: Microbial Analysis				
Test Method:			1	Vipe
Turn Around Time:				-days
Cost per Test:	6	EACH	\$8.00	\$48.00
	0	LACIT	\$0.00	\$40.00
Type of Test: Viable Fungal Genus Indentification/Quantification - Swap/Sponge Culture				
Test Method: (Insert Test Method)			EP/	A 305-1
Turn Around Time:			10-days	
Cost per Test:	6	EACH	\$22.00	\$132.00
	0	Enon	\$22.00	\$102.00
Type of Test: Viable Fungal Genus Indentification/Quantification - Anderson Plate Culture				
Test Method: (Insert Test Method)			EP/	A 305-1
Turn Around Time:				-days
Cost per Test:	6	EACH	\$25.00	\$150.00
		2,1011	\$20100	+100100
Type of Test: Viable Fungal Genus Indentification/Qualification - Anderson Plate Bacterial				
Test Method: (Insert Test Method)	_		EPA	A 305-1
Turn Around Time:			10	-days
Cost per Test:	6	EACH	\$20.00	\$120.00
Type of Test: Colorimetric chemical detector tubes including pump				
Test Method:				Air
Turn Around Time:				N/A
Cost per Test:	10	EACH	\$35.00	\$350.00
11. Test Category: Soil/Water/Air/Other - Characterization	8:8:8	.a.a.a		
Type of Test: Toxicity Characteristic Leaching Procedure for Lead Only (TCLP Lead)				
Test Method:			EPA 1311, 70	000, Series/6020
Turn Around Time:				days
	1		-C	uays
Cost per Test:	6	EACH	\$25.00	\$150.00

DALLAS COUNTY BID SYNOPSIS				
BID NO. 2016-002-6539				tal Technology, Inc.
ANNUAL CONTRACT FOR ASBESTOS-MOLD-LEAD	Mr. Anthony Ediale Owner			
ANNUAL CONTRACT FOR ASBESTOS-MOLD-LEAD ASSESSMENT AND CONSULTANT SERVICES			-	wner well Rd. #112
ASSESSMENT AND CONSULTANT SERVICES				TX 75229
<u> </u>				3-4194 (P)
				ax Listed
INITIAL CONTRACT PERIOD: JANUARY 1, 2016 THRU DECEMBER 31, 2016				bcalobal.net
THREE ADDITIONAL ONE YEAR PERIODS			<u>utilities</u>	begiobalinet
BUYER: LENORA SEVILLIAN			Recomm	end Award
COOPERATIVE PURCHASING?				lank
	ESTIMATED			
DESCRIPTION	ANNUAL	UNIT OF MEASURE	UNIT COST	COST EXTENSIO
Type of Test: RCRA Characteristics (Includes: Reactivity, Ignitability, Corrosively, and Paint Filter Test)				
Test Method:				.2 1030/1010 9040B/ 50.1
Turn Around Time:			5-days	
Cost per Test:	6	EACH	\$15.00	\$90.00
Section C: Environmental Training				
reading/instruction materials for each student attending the training session, all transportation including fuel surcharges, travel and mileage charges (if applicable). All training will be conducted by a professional trained or certified instructor. Contractor shall also provide the associated Certificate of Completion to each class participant.				
Specify Cost per Student at Vendor Training Facility located in Dallas County:		Per Student	\$75.00	\$75.00
Specify Cost per Class On-Site Training at Dallas County Facility:		Per Class	\$850.00	\$850.00
Specify the Maximum Number of Students per Class for On-Site Training at Dallas County Facility:				25
Class duration (number of instructional hours per day):		Hours		2
		1		1
13. Training Type: Lead-Based Paint Regulatory and Mold Awareness Training (price to include all reading/instruction materials for each strudent attending the training session, all transportation including fuel surcharges, travel and mileage charges (if applicable). All training will be conducted by a professional trained and licensed or certified instructor. Contractor shall also provide the associated Certificate of Completion to each class participant.				
Training (price to include all reading/instruction materials for each strudent attending the training session, all transportation including fuel surcharges, travel and mileage charges (if applicable). All training will be conducted by a professional trained and licensed or certified instructor. Contractor shall also provide the associated Certificate of Completion to each class		Per Student	\$70.00	\$70.00
Training (price to include all reading/instruction materials for each strudent attending the training session, all transportation including fuel surcharges, travel and mileage charges (if applicable). All training will be conducted by a professional trained and licensed or certified instructor. Contractor shall also provide the associated Certificate of Completion to each class participant.		Per Student	\$70.00 \$350.00	\$70.00
Training (price to include all reading/instruction materials for each strudent attending the training session, all transportation including fuel surcharges, travel and mileage charges (if applicable). All training will be conducted by a professional trained and licensed or certified instructor. Contractor shall also provide the associated Certificate of Completion to each class participant. Specify Cost per Student at Vendor Training Facility located in Dallas County:		Per Student	\$350.00	

DALLAS COUNTY BID SYNOPSIS				
BID NO. 2016-002-6539				tal Technology, Inc.
				nony Ediale
ANNUAL CONTRACT FOR ASBESTOS-MOLD-LEAD			-	wner well Rd. #112
ASSESSMENT AND CONSULTANT SERVICES				
				TX 75229 3-4194 (P)
				ax Listed
	1444444	444444		bcalobal.net
INITIAL CONTRACT PERIOD: JANUARY 1, 2016 THRU DECEMBER 31, 2016 THREE ADDITIONAL ONE YEAR PERIODS			<u>tkinatt@s</u>	<u>bcgiobal.net</u>
			Decem	and Award
BUYER: LENORA SEVILLIAN	199999			nend Award
COOPERATIVE PURCHASING?	0.0.0		E	Blank
DESCRIPTION	estimated Annual Quantity	UNIT OF MEASURE	UNIT COST	COST EXTENSION
14. Please list any other environmental training offered by your firm and				
associated cost:				N/A
	2 2 2			
Should your firm be awarded this contract, describe what (if any) portion of this bid requirements will be subcontracted out (specify the name of the subcontractor(s) and trade or portion of the work contractor, if available):				les, lead samples, and atory analysis.
*Leaving this area blank will mean the vendor will perform ALL portions of the contract with their own in-house staff.				
Specify Prompt/Early Payment Discount Terms (if any):				N/A
Please answer the questions below:	1			
Please answer the questions below: Is the required reference information included with your proposal?				Yes